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Instructions :

figiv..

Time : 3 Hours
RE : 3 qp±

The   question   paper   consists   Of  firve   secti?rs.   E?Ch   Secti:n  _CL:::::.:A
ii  ;arks.  Se:ti;n  -  I  is  compulsory  and  contains  twenty  obj:ctive_`-questions,  Each.  carries  two  marks  (20  x 2 _--40).  :ec:.ons:_.I.:.i_::.
-1:;;tain -two  optional  long  descriptive  questions  each.  The  candidate  is

requiredtoansweronequestionfromeachsection.

ri7wwiedi#fdegi9Faq;TFqg403j#iFT€iau€-I_erfiT?,
fdria-aof#*anqgivREgt2Ox2--4OjiT9g€-115y?9FaqF
ee#a-daae#3thigFigiqfiggTREqfigFaqFee##quan
3FFT tr a I

SECTION - I

RE - L!

Wmchmethod`is,usedtomeasureNationallncome?

(A)    Income method                                       (8)    Production method

(C)    Expenditue method                              (D)    All of the above

qRI3Fiqchqria;ffuiiniaftrfflrfufdriaraT€7

(A)   anfirfu                                             (8)   3FTTFRE

tc>   fflfirfu                                        tD7   3qdrdifan
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2.       This is not come under goals of National policy of lndia.
(A)    To bring down Total Fertility Rate (TFR) to replacement levels by 2015.
(8)    To reduce the infant mortality rate to 30 per thousand (1000) live births.
(C)    To reduce matemal mortality rate 100 per 100000 live births.
(D)     100 percent registration of births, deaths, marriages and pregnancies.
qE`tREEfrgivffia;adiSairfeT5a]rm%i
(A)   2oi5 aa5gaTfflaH (ftam) chTfatrmRIiTq5chSfdr I
(8)    ftTH TEE H q* rfu E5m ( iooo) rfu aiffi ql 30 (rfu) aq; q5q 5I]T I
(c)   qTETt¥Hwl ioo'rfu iooooo rfuffiaq55q5I]T I
(D)   ffl, TEE, ftng 3itwhm ffiT ¥mfro irfu q5Im I

3.       Choose the correct statement(s) related to the green revolution.
(i)      Increasing agricultural production by `incoaporating modem tools and techniques.
(ii)     New high yielding varieties of wheat were developed by Prof. Norman Borlaug

and were adopted by a number of countries.
(A)    Only(i)                                                          (8)     only(ii)
(C)    Both(i) and(ii)                                         (D)    Neither(i) nor(ii)
rfuffiaqTrfuqaq5qT/wh5TaqTrit!
(i) .   erTBPrq5 3qq5di 3ft Hffi q} rfu qFTS FPr 3ffliq agHT I
(ii)   ngfi T§ 3fEF rm a qTdifffi ri ri. iin id gilt firfu iin "T en aft

* an an in Tin en I
(A)  fa(i)
(c)    (i)vi(ii)ffi

4.       Who is the father ofpublic finance?
(A)    Dalton
(a)    Smith
fa ftiT a5 ffl qin ¥ 7
(A)-
(c)   ifu

(8)   fa(ii)
(D)    Tch(i)Ta(ii)

(8)    Pigou
(D)    Musgrave

(8)   flR
(D)   qch

5.       In Budget 2021, a multipurpose seaweedpark is proposed in which state?
(A)    Kerala                                                      (8)    Andhra prad;sh
(C)    Odisha                                                        (D).  TamilNadu
aiFa202itiffalT5qfiqq5qgivHEftwhqT±Hrfut7
(A)    a5RT                                                           (8)    arfeTqtr
tc]   rfu                                   tD>  alang
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MatchList-IwithList-llandselectthecorrectanswerusingthecodesgivenbelow:
List - I

1.        Fiscaldeficit
2.       Budgetdeficit
3.       Revenuedeficit

4.       Primarydeficit

123

(A)    C       A       8
(a)    D      C      a
(C)    A       C       8
(D)    C       A       D

A.
8'
C.

D.

4
D
A
D
8

List - 11
Excess of total expenditure over total receipts.
Excess of revenue expenditure over revenue receipts.
Excess  of total  expenditure  over  total  receipts  less
borrowings.
Excess  of total  expenditure  over total  receipts,  less
borrowings and interest payments.

tEi-¥qi€jft-I-Iagafedaaifr3iriRfckTTq¥fflrfuqRHa3algr
tffi-I1.  -ife"

2.     RE rm
3.   -rm
4.     TTiferm

(A)
(8)
(C)
(D)

I  ap-II
A.   grrfuqlgaqqdaeriin I
8.     {Tmaq[fffiq{{Tngi5qqfi erigiv I
c.   grffiq{gaqqrfueriin5Fdi I
D.    grffiq{gaqqd} erich, 5q3en{ 3it erTa

FTl

Which three indicators are used in Human Development Index (HDI) ?
I.  ` ,    Standardofliving                                      11.       Education

:I:;   :#:aE:ed:;:dn:#                            ::;   :n:1;;:,t;I:I:a:b:o¥v[:VLr°nment
ITT]qifrorfetHDI>fifinthREqFTwhiinimT%7
I.     thRE
Ill.   thHirm
tA)   far,113filv
(c)   fro13itll

CCSME21 (18)
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Iv.  qrfutftfan
(8)   froI,113itlll
tDj   3TdeHth
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Which  of  the  following  options  is  `not  incorporated  as  sustainable  development
parameters ?
(A)    Gender disparity and diversity
(8)    Inter and lntra-generational equity
(C)    Canying capacity
(D)    None of the above
fu=rf±ffiI{Taa€ftTenfaq5iFTqqqifroTTffia5FTtirfuif€7

i:i ¥Fvifafrfu         i:i =ia¥at-gqrm
9.      ::Ons£:;r¥t:hffi:[[s±t:¥;::g::a:I:oe:=ii#,;1caal:1::S::t°bny.RC[°TTeA]aeyvoe:§; task force.

gich:o::n:1?Le::::e statement LS C°ITec"    {B}   i:Liiyer 1 nor 2
finwhq{fai"fi:

i:=:=¥=quffian±EVI=T¥i'finrm€l

F=Laia="cat7          i:i =L2]a2
10.     What is unemployment trap?

(A)    A situation when unemployment benefits discourage the unemployment to go to
work.

`(8)    A situation where people working informally, without proper job contracts and
thus save any legal protection.

(C)    It refers to the time lag between the jobs or is switching between the job.
(D)    It is loss of jobs due to change in technology.ath rm ffl a ?
(A)  qF,t!=ft fREffl ath an ath qi 5m q{cha; ifuEalrfu ffl a I
(8)QF;eniaeing®chfingfiTaana]Irapa;erifiqrfeiFTaa5miitri!€3it

iHrm*apgrid%l
(c)  qEffi* rfuma 3FREqafty5{an%ffl*rfe*iffii}dHi¥T a

%"ana5rfuifaffl"€i
tD>  qE3Praetiqifea;5i{DTaniFTFT% I

CCSME2l (18)
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11.     Green Revolution of 1960 was associated with
/  ^\       TT
(A)    Use ofHYVofseeds   ---- I-.~-'--"

{g)6oES#e*Vej£P#fREen?
(A)   HYvffiqFTwh
tc>   qRTffro

(A)     1952
(C)     1958

(8)    Tree plantation programme
(D)    None of these

tB]  Twhrfu
(D)  dia*FT

12.     National Development council was established in
/A \       .^~J-

(a)     1971

ifefaifeqftqE fiey"T5€ aft              tDJ    i964
(A)     1952
(C)     1958

(A)    NABARD -Ind=strial I-a-a-i-`

EL¥*raA#cu:tur#nfc£7
(A)  wh-3ifean
(c)    3TR.3m.th. -5fuffa

(8)      1971
(D)     1964

13.     Which of the following combination is correct?
A \     Lt I -, -_

(8)    RBI -Long-term finance
(D)    IDBI -Short-term loan

(8)   en.th.errs. -unfiiT
(D)    en€.di.ffi.aTT€. -aTEqrfe a5uT

14.     How many countries of the world are cuITently members of the WTO?

(a))    I:f                                                      (8,165
qchSfha*fanaFTfha5qrmhastgHL€557

L\       1 -,
(A)     134
(C)     164

(A)  rfuq5{-

(8)     165
(D)     155

15.     VAich statutory body is having power regarding stock market?

{8,J   faEEI                                                    tB,    N.N.p.
whTh*t77ap¥ifaaifefien*qip#tc7

{£,J   faEEI                                                 {B}   r[.g.p.
16.     Fiscal deficit is that pan of total government expenditure which fs met by

(A)    Imposing more taxes                              (8)    Borrowings

esll#s#re#f±g&Vefm#€fi£D#]±ft±faverm€7/^ \  1Tfin__
(8)   anaiantc>   tTenan qTha`REdai±rfi            t`D;   qie-ri

CCSME21 (18}
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17.     What is the contribution of the secondary sector in Jharkhand State Value Added at
constant prices in 2019 -20 ?
(A)    32.8%                                                          (8)     28.2%
(C)     28.9%                                                             (D)     12.5%
2Oi9.2OfiifuHFffiq{iTTRESITfflRgqfthfiiifetrfflqqTir%7
(A).    32.8%                                                               (a)128.2%
(C)     28.9%                                                             (D)     12.5%

18.     What is the gap in the literacy rate of Jharkhand and India in percent as per the 2011
Census ?
(A)    5%                                                               (8)     7.3%
(C)     20.8%                                                             (D)     10.3%
2oiiiftq]7Tuma;37grilgREngafr`]i{aiflqng{anHfiaiit(Tfro¥)qT%?
(A)    5%                                                               (8)     7.3%
(C)     20.8%                                                             (D)     10.3%

19.     Which of the following statement is not correct about the Jharkhand State Contingent
Foodgrains Fund ?
(A)    It is constituted to thwart any eventuality 6f starvations-deaths,
(8)    This  fund  has  been  constituted  right  from  the  district  level  down  to  the

Panchayat in the financial year 2018-19.
(C)    During  the  COVID-19  pandemic,  this  fund  has  helped  the  needy  people  in`   tackling the problem of scarcity of foodgrains at the ground level.

(D)    5 kg of rice is given to the eligible beneficiaries from this fund.
FREu5{iiEerTffi5raFTchsrifiiiHfinfiathena5eFTteid%?
(A)  FTTra] giv-Ti¥i} fan th faeq} fha eta; ffufin TrqT% I
(8)   farfual 2018.19 ¥HchfflTTa]fintataaffliniT5iinrmT€ I
(c)   covlD-ig Fun * dr H ch i ffi fflt q{ uraFT d} di ift t]T]en a

REtiq5rfeanflq5Efi€i
(D)   5 ianaTaHHchahaen7Tffiq}ftqTqrm% I

20.     As per the India State Forest Report 2019, what percent of Jharkhand's Geographical
area comes under the forest cover ?
(A)     30.52%                                                         (8)     29.12%
(C)     29.62%                                                         (D)    28.98%
vila {TGq FT RE 20 1 9 a a]gril, gREu€ a5 `fiTife dr ffl fin fro `]i7T Ffi a
ch 3Tm a ?
(A)    30.52%
(C)     29.62%

CCSME21 (18)
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(8)     29.12%
(D)    28.98%
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1.       What is National Income? Discuss the various methods ofmeasulng national income.

giv3rmqqT%?"armq}qria5fife{rfl.:i#VIqalq±i
\

OR/3Trm
Write an Essay on Budget. Explain the principles and types of Budget.

aiaETIq5fiaprfasiaiFaa;fREainndiftallm5qTq#i

SECTION - Ill
RE - Ill

40

What  is the  origin  of expression  "SUSTAINABLE  DEVELOPMENT"  ?  How  it  is
associated with protecting the environment ? Elaborate the statement "Center to start
measuring green G.D.P. of States".
`q5aqffro'erfthflffiqqT€9qEqrfuiftgrenaa:r:Jg5T%7xpq5q]ifl

5qifflTqR,<tT5fififtdi.a.TIT.fflqma;F=grqin"I

OR/rm
Write a note on Indian Five Year Plan.

rfuiREinviqFilefasi

SECTION - IV
RE - IV

3.       Write an overview on impact ofGlobalization in Indian economy.

wherti5qanSafifut;mmqtq5itrili;;;';figivi=]FRi

OR/3Tan
Write the recent agriculture sector reforms which are done in India.

€iFaSvi{aSffrTTqapdrfaB€TTfiifli:=]nenqfti
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What are the sources of public borrowings of the Government of Jharkhand ? Discuss

the recent trends in the debt-sustainability indicators for Jharkhand.

grnIOBtTRT`aiqT5ffipe]FRT`a;drqqT€7gingnga;ffua5uT-finriffifiEiF

a5 ed ql ed tit I
oR/rfu

Discuss in brief the major challenges faced by Jharkhand in the path of addressing the
developmental concerns.

ffroijatflffaedq*i{qrd±qriagilzgust;whedrfuTgrgivihrich
¥ ed qft I
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